MATHS

BOOKS - CBSE COMPLEMENTARY
MATERIAL MATHS (HINGLISH)

PAIR OF LINEAR EQUATIONS IN TWO
VARIABLES

Very Short Answer Type Questions



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb

1. If the lines given by 3z + 2ky =2 and

2z + by = 1 are parallel, then the value of k is

o Watch Video Solution

2. If x = a and y = b is the solution of the
equations x -y =2 and x + y = 4, then the values

of a and b are, respectively

o Watch Video Solution



https://dl.doubtnut.com/l/_gDrG3E8wBEX2
https://dl.doubtnut.com/l/_cSnvJz75HPlr

3. A pair of linear equations which has a unique

solutionz = 2andy = — 3is

Ax+y=1and2x-3y = -5

B.2z + 5y = —11 and 22— 3y = — 22

C.2x + 5y = —1land 4z 4 10y = 22

D.z—4y-14 = 0and 5z—y-13 = 0

Answer: A::B::D

o Watch Video Solution



https://dl.doubtnut.com/l/_3AMH24ChHncl

4. The area of the triangle formed by the line
x =3, y=4and x = yis (a) sq. unit (b) 1sq.

unit (c) 2 sq. unit (d) None of these

° Watch Video Solution

5. Find the value of k for which the system of
equations
3r + 5y =0,kx 4+ 10y = 0

has a nonzero solution.

o Watch Video Solution



https://dl.doubtnut.com/l/_i2v3cIEMpJ3e
https://dl.doubtnut.com/l/_1hlAGhp3voh1

6. If a pair of linear equations in two variables is

consistent, then the lines represented by two

equations are (a) intersecting (b) parallel (c)

always coincident (d) intersecting or coincident

A. Intersecting

B. Parallel

C. always coincident

D. intersecting or coincident

Answer: C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_eHWiPloxaPM4

7.For 2x + 3y = 4, y can be written in terms of

o Watch Video Solution

8. One of the common solution of ax + by = ¢

and y axis is


https://dl.doubtnut.com/l/_eHWiPloxaPM4
https://dl.doubtnut.com/l/_HmYnL1Egpiew
https://dl.doubtnut.com/l/_nzvnvDsGFx0A

Answer: A::B::C

o Watch Video Solution

9. a irax by c and lix my n has unique solutions

then find the relation between the coefficients

A.am # 1b

B.am = [b

C.ab =1lm


https://dl.doubtnut.com/l/_nzvnvDsGFx0A
https://dl.doubtnut.com/l/_a7FKQXRAOjKk

D.ab # Ilm

Answer: A::B

o Watch Video Solution

10. In a AABC, £C = 3/B = 2(£LA + 4B)
find the three angles.

A.30°,60°,90°

B.20°, 40°, 120°

C.45° . 45° . 90°



https://dl.doubtnut.com/l/_a7FKQXRAOjKk
https://dl.doubtnut.com/l/_HsYNBkItpQU0

D.110°, 40°, 50°

Answer: A::B::D

o Watch Video Solution

M. If £ = 3m—1 and y = 4 is a solution of the

equation z 4+ y = 6, then find the value of m.

° Watch Video Solution



https://dl.doubtnut.com/l/_HsYNBkItpQU0
https://dl.doubtnut.com/l/_SUXTgAsow70f

12. What is the point of intersection of the line

represented by 3z— 2y = 6 and the y-axis?

o Watch Video Solution

13. For what value of p, system of equations

2z + py = 8 and x + y = 6 have no solution.

° Watch Video Solution



https://dl.doubtnut.com/l/_eknXCUTiTrMS
https://dl.doubtnut.com/l/_MovOmxTG0Llt

14. A motor cyclist is moving along the line
z—y = 2 and another motor cyclist is moving
along the line z—y = 4 find out their moving

direction.

o Watch Video Solution

15. Find the value of k for which pair of linear
equations 3z + 2y = -5 and x—ky = 2 has a

unique solution.

o Watch Video Solution



https://dl.doubtnut.com/l/_v9PBXgWkzcsV
https://dl.doubtnut.com/l/_JQGbce2O3kh8

16. Express y in terms of x in the expression

3z— Ty = 10

o Watch Video Solution

17. If 2x + 5y = 4, write another linear
equation, so that lines represented by the pair

are coincident.

o Watch Video Solution



https://dl.doubtnut.com/l/_YEy8jqhsfo9q
https://dl.doubtnut.com/l/_h6HHqhvWLhpq

18. Check whether the graph of the pair of
linear equations x+2y-4=0 and
2z + 4y- 12 = O is intersecting lines or parallel

lines.

o Watch Video Solution

19. If the lines given by
3r +2ky=2and 2¢x +5y+1 =20 are

parallel, then the value of k is

o Watch Video Solution



https://dl.doubtnut.com/l/_FM6nplGm5V6I
https://dl.doubtnut.com/l/_9na1rWxBoqEO

20. If we draw lines of x = 2 and y = 3 what

kind of lines do we get?

o Watch Video Solution

Short Answer Type | Questions

1. The sum of the numerator and denominator
of a fraction is 3 less than twice the
denominator. If the numerator and

denominator are decreased by 1, the numerator


https://dl.doubtnut.com/l/_ZrCtaXIMSvId
https://dl.doubtnut.com/l/_7w7zuUvOfUHH

becomes half the denominator. Determine the

fraction.

° Watch Video Solution

2. For what value of p the pair of linear
equations (p + 2)z— (2p + 1)y = 3(2p-1) and

2z— 3y = 7 has a unique solution.

O Watch Video Solution



https://dl.doubtnut.com/l/_7w7zuUvOfUHH
https://dl.doubtnut.com/l/_Er1mfLdevc0b

3. ABCDE is a pentagon with BE||CD and
BC||DE, BC is perpendicular to CD If the

perimeter of ABCDE is 21 cm, find z and y.
A

3 cm 2cm

S cm

ATy

° Watch Video Solution



https://dl.doubtnut.com/l/_ev6hJ1cGxdjf

4.Solve for z and y

y r 2y 2
33—2—3and2 3 — 3

o Watch Video Solution

5.Solve for x and y
dr +2y=11and 2z + 3y =4

Also find p if p = 8z + 5y

° Watch Video Solution



https://dl.doubtnut.com/l/_zlpDBac481Oa
https://dl.doubtnut.com/l/_QI4ZZr0fgnzG

6. Solve the pair of linear equations by
substitution method x-7y+42=0 and

z—3y—-6 =0

° Watch Video Solution

7. Ram is walking along the line joining (1, 4)
and (0, 6)
Rahim is walking along the line Joining (3, 4)
and (1, 0)
Represent on graph and find the point where

both of them cross each other


https://dl.doubtnut.com/l/_0nPk4HlkS5Xw
https://dl.doubtnut.com/l/_akPcAQeVUl6D

o Watch Video Solution

8. Given the linear equation 2z + 3y—12 = 0,
write another linear equation in these variables,
such that. geometrical representation of the
pair so formed is

(i) Parallel Lines (ii) Coincident Lines

o Watch Video Solution

9. The difference of two numbers is 66. If one

number is four times the other, find the


https://dl.doubtnut.com/l/_akPcAQeVUl6D
https://dl.doubtnut.com/l/_R681YIO1XYIr
https://dl.doubtnut.com/l/_bJ5SetoUEU5a

numbers.

o Watch Video Solution

10. For which value (s) of k will the pair of
equations

kx + 3y = k — 3,

12z + ky =k

has no solution ?

o Watch Video Solution

Short Answers Type li Questions


https://dl.doubtnut.com/l/_bJ5SetoUEU5a
https://dl.doubtnut.com/l/_FDzwKZWr90Xg

1. Solve graphically the pair of linear equations
5c—1y = Sand 3x—2y = -4
Also find the co-ordinates of the points where

these lines intersect y-axis

o Watch Video Solution

2.Solve for x and y

5 1,
T+y -y
15 5)
_ — _9
T +Yy T —y

° Watch Video Solution



https://dl.doubtnut.com/l/_af2ZZP4xdPHJ
https://dl.doubtnut.com/l/_G0EB6HqSgr05

3. Solve the following system of equations by

method of cross-multiplication:
x !} x Y
E+€:a+b’ E—FEZZ

° Watch Video Solution

4. For what values of a and b the following pair
of linear equations have infinite number of
solutions?

2r +3y =7

a(lx +y) —blx —y) =3a+b—2


https://dl.doubtnut.com/l/_G0EB6HqSgr05
https://dl.doubtnut.com/l/_gAEMpQHIppRX
https://dl.doubtnut.com/l/_V72AgPE5vdAA

o Watch Video Solution

5. Solve the following system of equations:

152z — 378y = — 74, — 378z + 152y = — 604

o Watch Video Solution

6. Yash scored 40 marks in a test, getting 3
marks for each right answer and losing 1 mark
for each wrong answer. Had 4 marks been
awarded for each correct answer and 2 marks

been deducted for each incorrect answer, then


https://dl.doubtnut.com/l/_V72AgPE5vdAA
https://dl.doubtnut.com/l/_qOPZtpGsYgE4
https://dl.doubtnut.com/l/_8i6rDtxgCYlD

Yash would have scored 50 marks. How many

questions were there in the test?

° Watch Video Solution

7. A two digit number is obtained by either
multiplying sum of digits by 8 and adding 1 or
by multiplying the difference of the digits by 13

and adding 2. Find the number.

o Watch Video Solution



https://dl.doubtnut.com/l/_8i6rDtxgCYlD
https://dl.doubtnut.com/l/_EpBV9M5A3NsV

8. Fathers age is three times the sum of ages of
his two children. After 5 years his age will be
twice the sum of ages of two children. Find the

age of father.

o Watch Video Solution

9. On selling a T.V. at 5% gain and a fridge at
10% gain, a shopkeeper gains Rs. 2000. But if he
sells the T.V. at 10% gain and the fridge at 5%
loss. he gains Rs. 1500 on the transaction. Find

the actual prices of T.V. and fridge.


https://dl.doubtnut.com/l/_sY9e8VkS5Kj2
https://dl.doubtnut.com/l/_GAxTV5CGL0Q3

o Watch Video Solution

10. Sunita has some Rs. 50 and Rs. 100 notes
amounting to a total of Rs. 15,500. If the total
number of notes is 200, then find how many

notes of Rs. 50 and Rs. 100 each, she has.

O Watch Video Solution

Long Answer Type Questions



https://dl.doubtnut.com/l/_GAxTV5CGL0Q3
https://dl.doubtnut.com/l/_J6Kc3oNOUjGU

1. Solve graphically the pair of linear equations
3z—4y + 3 = 0 and 3z 4 4y—21 = 0 Find the
co-ordinates of vertices of triangular region
formed by these lines and x-axis. Also calculate

the area of this triangle.

° Watch Video Solution

2. Sol ! T L
. olLve:. = —-
22z +3y) 73z —2) 2

T4
2¢ +3y 3z —2y

2x + 3y # O0and3x — 2y # 0.

I o WMilabdl.\ Nt daca L.kt aa

2 where



https://dl.doubtnut.com/l/_UEgxx9DtDpn1
https://dl.doubtnut.com/l/_JYUq4KVyrBrM

VYvdadilil VIUCU JVIULIVII ) |

3. Solve the pair of equations by reducing them

to a pair of linear equations

3z + 2y
—— = 1and
LY LY

hence find a for whichy = ax — 4

4:c—2y_13

o Watch Video Solution

4. Formulate the following problem as a pair of
equations and then find their solutions.

Rahim travels 600 km to his home partly by


https://dl.doubtnut.com/l/_JYUq4KVyrBrM
https://dl.doubtnut.com/l/_jDMwOeGNhaXZ
https://dl.doubtnut.com/l/_iXZ4oIUaVjNS

train and partly by car. He takes 8 hours If he
travels 120 km by train and rest by car. He takes
20 minutes more if he travels 200 km by train
and rest by car. Find the speed of the train and

the car.

o Watch Video Solution

5. A and B are two points 150 km apart on a
highway. Two cars start with different speeds
from A and B at same time. If they move in same

direction, they meet in 15 hours. If they move in


https://dl.doubtnut.com/l/_iXZ4oIUaVjNS
https://dl.doubtnut.com/l/_vYZ5Aby4Thc2

opposite direction, they meet in one hour. Find

their speeds

° Watch Video Solution

6. A beat covers 32km upstream and 36 km
downstream in 7 hours. Also, it covers 40 km
upstream and 48km downstream in 9 hours.
Find the speed of the boat in still water and

that of the stream.

° Watch Video Solution



https://dl.doubtnut.com/l/_vYZ5Aby4Thc2
https://dl.doubtnut.com/l/_fTRXBqHHBfmb
https://dl.doubtnut.com/l/_i2Z8F0ynlwiI

7. The sum of the numerator and denominator
of a fraction is 4 more than twice the
numerator. If the numerator and denominator
are increased by 3, they are in the ratio 2 : 3.

Determine the fraction.

o Watch Video Solution

8.8 men and 12 boys can finish a piece of work
in 10 days while 6 men and 8 boys can finish it

in 14 days. Find the time taken by one man


https://dl.doubtnut.com/l/_i2Z8F0ynlwiI
https://dl.doubtnut.com/l/_13XU0GgrHKQX

alone and that by one boy alone to finish the

work.

° Watch Video Solution

9. The ratio of incomes of two persons A and B
is 3:4 and the ratio of their expenditures is 5: 7
. If their savings are Rs.15,000 annually find their

annual incomes.

o Watch Video Solution



https://dl.doubtnut.com/l/_13XU0GgrHKQX
https://dl.doubtnut.com/l/_rLBfiSpmKT20

10. Vijay had some bananas and he divided
them into two lots A and B. He sold the first lot
at the rate of RS. 2 for 3 bananas and the
second lot at the rate of Rs 1 per banana and
got a total of Rs. 400. If he had sold the first lot
at the rate of Rs. 1 per banana and the second
lot at the rate of Rs. for 5 bananas , his total
collection would have been Rs 460. Find the

total number of bananas he had.

o Watch Video Solution



https://dl.doubtnut.com/l/_pj0wSeAPYBVn

11. A railway half ticket cost half the full fare but
the reservation charges are the same on a half
ticket as on a full ticket. One reserved first class
ticket from the stations A to B costs Rs. 2530.
Also, one reserved first class ticket and one
reserved first class half ticket from stations A to
B costs Rs. 3810. Find the full first class fare
from stations A to B and also the reservation

charges for a ticket.

o Watch Video Solution



https://dl.doubtnut.com/l/_j8X65kfrASZQ

2 3
Ve o VY

= 2 and

12. Solve the equations:

4 9

NN

—1

o Watch Video Solution

13. Determine graphically, the vertices of the
triangle formed by the lines

y=X, 3y=x and x+y=8

° Watch Video Solution



https://dl.doubtnut.com/l/_sRsXx0B18ike
https://dl.doubtnut.com/l/_YJPIbOblI1bf

14. Draw the graphs of the equations x=3, x=5
and 2x-y-4=0. Also find the area of the

quadrilateral formed by the lines and the X-axis.

° Watch Video Solution

15. The area of a rectangle gets reduced by a 9
square units, if its length is reduced by 5 units
and the breadth is increased by 3 units. The
area is increased by 67 sqaure units if length is
increased by 3 units and breadth is increased

by 2 units. Find the perimeter of the rectangle.


https://dl.doubtnut.com/l/_aMXKiH3YpS5N
https://dl.doubtnut.com/l/_p4DbO2gHL9yB

° Watch Video Solution

Practice Test Section A

1. For what value of k does the system of
equations

x+2y=3,5%¢c +ky+7=0
have (i) a unique solution, (ii) no solution ?
Also, show that there is no value of k for which
the given system equations has infinitely many

solutions.

I O Watch Video Solution


https://dl.doubtnut.com/l/_p4DbO2gHL9yB
https://dl.doubtnut.com/l/_lyoMpkcnpJ63

2. Does the point (2, 3) lie on line of graph of

3r—2y = 5.

o Watch Video Solution

3. The pair of equations £ =a and y=>

graphically represents lines which are

A. Parallel

B. Intersecting at (b, a)


https://dl.doubtnut.com/l/_lyoMpkcnpJ63
https://dl.doubtnut.com/l/_uvgsG532lp9L
https://dl.doubtnut.com/l/_p0KDzyh5tdfJ

C. Coincident

D. Intersecting at (a, b)

Answer:

° Watch Video Solution

4. For what value of k, do the equations
3 —y+8=0 and 6r — ky = — 16

represent coincident lines ?


https://dl.doubtnut.com/l/_p0KDzyh5tdfJ
https://dl.doubtnut.com/l/_ax6X4gDXUdnl

Answer:

° Watch Video Solution

Practice Test Section B

1. For what values of a and b does the pair of

linear equations have infinite number of


https://dl.doubtnut.com/l/_ax6X4gDXUdnl
https://dl.doubtnut.com/l/_1VYO67DjZ7Gm

solutions
2c — 3y =17

ar +3y=>

° Watch Video Solution

2.0.4x + 0.3y = 1.7,

0.7z — 0.2y = 0.8

o Watch Video Solution



https://dl.doubtnut.com/l/_1VYO67DjZ7Gm
https://dl.doubtnut.com/l/_s75plgYJS7BZ

3. If the system of equations 6x + 2y = 3 and
kx +y = 2 has a unique solution, find the

value of k.

o Watch Video Solution

Practice Test Section C

1. Solve for = and y by cross multiplication

method
r+y=a-+b

az—by = a’— b


https://dl.doubtnut.com/l/_eRvDkQsG5bkN
https://dl.doubtnut.com/l/_JPT5Y0RyJNqz

° Watch Video Solution

2.Sum of the ages of a father and the son is 40
years. If father’s age is three times that of his

son, then find their ages.

o Watch Video Solution

Practice Test Section D


https://dl.doubtnut.com/l/_JPT5Y0RyJNqz
https://dl.doubtnut.com/l/_F3OvOmV4JUNT

1. Solve the following pair of equations
graphically.

3z + 5y = 12 and 3z— 5y = —18.

Also shade the region enclosed by these two

lines and x-axis.

o Watch Video Solution



https://dl.doubtnut.com/l/_Orxc1TLkwQhu

